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INSTRUCTIONS TO CANDIDATES

1. This question paper has 50 questions. Each question carries one mark. There are four choices for answer

(A, B, C, D) to each question. Choose the correct answer (one only) for each question and mark it on

the Optical Response Sheet (ORS).

Questions have been set in English and Hindi, in case of discrepancy, the English version will prevail.

Read the instructions given in the ORS carefully.

Use a black pen only otherwise, ORS will not be evaluated.

Candidate must write Name, Roll No., Date of Examination, Booklet Code and sign on the ORS.

The candidate should check that the booklet does not have any unprinted or torn or missing pages or

guestions etc. If so, get it replaced with another question paper.

7. While marking your answer on the ORS, fully darken the circle. Answer once marked cannot be
changed.

8. One (1) mark will be awarded for each correct answer and minus one by three (—g) mark for each

IS

incorrect answer. The unanswered questions will not attract negative marks.

9. Return the ORS to the invigilator after the examination is over.

10. Candidate is allowed to take away question paper after the examination.

11. Mobile and other Electronic Gadgets are prohibited in the examination. Watches of any kind are also
not allowed.

12. Use of unfair means in examination will lead to cancellation of candidature.

CORRECT Method of Answering in ORS WRONG Method of Answering in ORS
ORS H IR & &1 gl i1 ORS H IR & HT 7Teld 1T
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T UYT T 50 T & | TS UY &b IR &b AT IR (A, B, C, D) [adhed | A% Uefdhs 1w It SR (hadt Uh) T
3R 3¥ Optical Response Sheet (ORS) e R Rifed &

fguTsht st B 1S fainifa 81 &t fRufar & Sfsft faavor A ghm |

ORs ¥ feu Tt &= &l T Y U |
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ORS 2fie TR 301 7, Jd Far, Uten &t fafy, gl Hie fordeik gxdler &1
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TS T SR b oY Teh (1) $feh Tl BTN SR Tl TIeff IR ab 1 U el fi (— - ) 3ieh e fa smam |
START U THRIAD 3 BT Tal Bl |

T8 JAT 8 & &1 ORS FARYerd &1 afer |
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12. Tten o srford Tre & UanT Bt fRufa & Iufigart g o <t S|
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(Objective type questions)
UHR & )

Each question carries 1 mark

TISH UY P 13fF 8

1.  The antonym of the word ‘exotic’ is

alien
common

cosmopolitan

o w >

irrelevant

2.  The synonym of the word ‘fascinating’ is

A. repelling
B. indifferent
C. enthralling
D. jading

3. Hesaid to her, “I lied to you about my exam result.” Accordingly, which one is correct?

A. Hetold her that he has been lying about his exam result.

B. He enquired about lying to her.

C. He confessed to her that he had lied about his exam result.

D. He was relieved to have told her the truth about his exam result.
4.  The strikes were mainly concerned working conditions.

A. from

B. with

C. about

D. on
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5. The report provides evidence of the spread of the disease.

A. worry

B. worried

C. worrying

D. worriedsome

6.  Choose the correct version of the following sentence:

By tomorrow | will have told John that you are leaving.

A. By tomorrow John will have been told that you are leaving.
B. By tomorrow John must have told that you are leaving.
C. By tomorrow John shall have been told that he is leaving.
D. By tomorrow John would tell that you have left.
7. The teacher divided the sweets all the students.
A. between
B. among
C. into
D. in between
8. Many magnificent palaces and museums in our city lately.
A. have built
B. have being built
C. has being built
D. have been built
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9.  The area of a rhombus whose vertices are (3, 0), (4, 5), (-1, 4) and (-2, -1) taken in

order,is___ sg.units
T THEgHS & 2 %9 § (3, 0), (4, 5), (-1, 4) 3R (-2,-1) §1 ITDT &THd 3
sg.units
A 12
B. 24
C. 30
D. 32

10.  If cos(a 4+ B) = 0, then sin(a — B) can be expressed as

TfeE cos(a + B) = 08, A sin(a — B) BT & =0 H oo fHa1 o bl g
A 0
B. cosp
C. cos2p
D. sin2a

11. A fish tank has 5 male fishes and 8 female fishes. The probability of fish taken out is

a male fish is

U I ¢b | 5 R ASferdl 3R 8 AT ASferdl g | a1er Fbrelt 18 Aval & R
ASC 8F B UTiieear gl

A. 5/8
B. 5/13
C. 13/5
D. 5
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12.

13.

14.

D and E are the midpoints of side AB and AC of a triangle ABC, respectively and
BC =6 cm. If DE || BC, then the length (in cm) of DE is
D 3R E SHHAMAR Y ABC &1 YSTT AB 3R AC & H&fdg § IR BC =6 cm &

gfe DE||BC, I DE B &fals cm ™ &

A 25
B. 3.0
C. 50
D. 6.0

Sonal and Manav started working on a project and they can complete the project in 30
days. Sonal worked for 16 days and Manav completed the remaining work in 44 days.
How many days Manav would have taken to complete the entire project all my

himself?

THd 3R HTHd A T Hioide R H1H HRA1 R a1 3R 9 39 Uieae &1 30 Al
o HR AP g T A 16 fo & foar 3R AFa 7 I8 W 44 T d @0
fohaT| ATa DI R Tiolae B 3idhal I B H fba- i @ gl

A. 60
B. 20
C. 46
D. 55

Two numbers are in the ratio 3:5. If 9 is subtracted from each, the new numbers are in

the ratio 12:23. What is the value of the smaller number?
3 TR 3:5 % U H § | fe U T 9 geT faar Sy, oY 93 TR 12:23 &%
3T # Bt § 1 BIET TeAT BT HIH T 82

A 27
B. 33
C. 55
D. 49
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15. Family sizes in a town is given in the graph. Calculate the average family size from
the given data for the town.
forlt TR o uRaR &1 R I A far mar §1 2eR & forw fu T siiwst &
3d IRAR SHTHR Bt TT0MET B

50
45

40

35

30

25

20

15

1

o i

1 2 3 - 5 6

Number of members in the family

Number of families (in thousands)

(=] L (=)

A 24
B. 3.0
C. 34
D. 40

16. The area of the largest triangle, inscribed in a semi-circle of radius r, is

et » & srdfga o siferd gad 58 AYS &1 &awd gl

2

A

B. 1/2r?
C. 2r?
D. +2r?

17. In which year, East India Company acquired Bombay from Portuguese?

Sz STETT U A by AW QIR @ w1 T SRl fam

A. 1663
B. 1668
C. 1670
D. 1689
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18.

19.

20.

Who among the following had drafted the fundamental rights resolution at the Karachi
Session, 19317

foferRad o 3 foram S I3, 1931 H Aifeies ISR TRATd &1 qieT JOR fohar
T?

Jawaharlal Nehru

Acharya Narendra Deo
Subhash Chandra Bose
Maulana Abul Kalam Azad

o w >

Who of the following was the commander of the Sikh army during the first Anglo Sikh

war?

TYY 31 g g & SR R 1 &1 wrveR Fgfefed & 9 »H U

A. Balak Singh
B. Lal Singh

C. Kharak Singh
D. Nihal Singh

Which party was established by Subhash Chandra Bose after he came out of Indian

National Congress?

YR ST B I ST6x 31 b ST JHTY <% o1 A g U1et bt RUTTHT 12

Republican Party
Socialist Party

Forward Block

oo w >

Indian National Army
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21.

22.

23.

24.

Who was the founder of Arya Samaj?

3T TS & TRITS DI A2
A. Dayanand Saraswati
B. Raja Ram Mohan Roy
C.  Acharya Narendra Dev
D. Acharya Vinoba Bhave

By which name the main branch of river Ganga is known as in Bangladesh?

T Tt 1 TR IR bl ST H fobdt AT & ST irell 82

A. Jamuna
B. Padma
C. Meghana
D. Kalindi

On which country’s model is the Indian federal system based?

HRAHT G a1 fhg S & Arsd IR 31eTid 82

A. USA
B. Britain
C. Canada
D. France

From where we can change the name of a User Account on a Windows computer?

&Y [4SIel LR W IUURTEHA! @Id BT 11 el § 9ad Tad 6?2

Settings
Computer Name
Code

Control Panel

oo w >

Page 9 of 20



25. The process of erasing a disk is called

&t o1 firer &1 ufebar & EIHRSIGIN

A. wiping
B. formatting
C. cleaning
D. defragmentation
26. In MS Office, is the software for managing emails.

MS Office ¥, A JSfId P BT IR g

A. MS Access
B.  MS Outlook
C INBOX

D. DRAFT

27. What does BCC stand for when sending an email?
Email 3ofd S99 BCC &1 &1 313 g7

A. Blind Copy Carbon
B. Blind Copy of a Code
C. Blind Carbon Copy
D. Bulk Copy of a Code
28. contains buttons and menus that provide quick access to commonly used
commands.

T g 3R A 8Id § S SHAR W SUAN fhU O a1d SIS I ik

Ugd UeH &d g |

A. Toolbar
B. Menu bar
C.  Window
D. Status bar
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29.

30.

31.

Powerful key that lets you exit a program when pushed is

TRt} oft S SHTU! TETY o TR Wi & §Tek Adba ddt g, 988

A. arrow key
B.  spacebar

C.  escape key
D. return Key

Which keyboard keys can be used to align the text to the left side of the document in
MS Word?

MS Word T THRE ! GXITAT & §18 3R IRAd B b 1070 (b Hlals ol Pl
SUTNT fhaT ST Feball 87

A. Alt+L
B.  Alt+Spacebar
C. Ctrl+L
D. Tab+L
The molarity of a 1% (w/v) glucose solution is milli molar (mM)

(Molecular weight of glucose = 180)
1% (wiv) TIoT °OTdl BT HIeRd] foreft AR (mm) B
(TSI BT JAUIfAD UR = 180)

A. 50
B. 58
C. 56
D. 48
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32. Based on the types of orbitals involved in mixing, the hybridization of BFz molecule
IS

fRysyor & fret siffdfecd & TR & 3MYR W, BF; 3 BT HUIgidls

3

A. sp
B. sp?
C. sp
D. spd

33. Inthe NMR spectroscopy, the absorption measurement of electromagnetic radiation is

used in the frequency range of

TSR WHRRDU H, [dggd e fafexor & s@=ivor g &1 IudnT

I3RS H fhur S |
A. 410900 KHz
B. 4t0900 MHz
C. 410900 GHz
D. 410900 THz

34. Inadiatomic gas, the C,/Cy is

fguRATI A9 7, c,/C, BT 8
A. 1.0
B. 1.2
C. 13
D. 14
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35. If an unknown capacitor has a charge of 9C and the voltage is of 5V, then the value
of capacitance is
gfe feddt srRiTa capacitor T charge 9C g 3R voltage 5V % ar capacitance T HIH

g

A. 45F
B. 45F
C. 18F
D. 18F

36. If a radioactive nucleus emits a beta particle, then the parent and daughter nuclei are

termed as

i ﬁé radioactive nucleus beta particle JfoTd DRl % dr parent 3R daughter
nucleus FHEA & |

A. Isotopes
B. Isobars

C. Isomers
D. Isotones

37. The octal (312)g value converted into decimal value is
Decimal A H gRafdd Octal (312)s &1 A 8

A. (201)10
B. (202
C.  (102)1
D. (103)10
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38.

39.

40.

Which following set of logic gates are known as universal gates?

ot T & forg fFafafad de & gfiaddd e & U & ST SI1dl 82

A. XOR, NAND
B. OR,NOT

C. NAR, XNOR
D. NOR, NAND

Out of several layers of the Earth’s atmosphere, which one of the following is the

lowermost?

et & aTried ) oS AT A Y, Frfed 3 2 3 ge P 2

A.  Stratosphere
B.  Troposphere
C. Mesosphere
D. lonosphere

A train X of length 60 m travels at a speed of 80 km/hr. Another train Y of length 120
m travels at a speed of 30 km/hr. The time taken by the train X to completely cross the
train Y when they are moving in the same direction is t1. Similarly, time taken by the
train X to completely cross the train Y when they are moving in the opposite direction
is t2. Then, ti/ tois

60 Hiex dell Ueh < X 80 el der Bt 71 T I HRell B 120 Hiex Tl Th 3
Y 30 P/ B A IR I CAX B AY BT REJURIRA A 1y
Ay o Od d T 81 2 H 311 9¢ T3 &1 | 31 k@, ¢ X Bl ¢ Y I §H Re

U UR A T t, 999 T 99 d fquid =2 § U - G BT 3R §¢ @ 711 9,
/e

A. 2511
B. 32
C. 5/2
D. 11/5

Page 14 of 20



41.

A rocket is going vertically upwards. Which one of the following graphs correctly

represents the velocity vs time?

TH Adbe SR DI 3R o1 38T & | FEfaRad § I F 91 W o §1H 90T &1 96t

yfaffa Harg?

A.

Velocity

Time

B.
-
=
8 l‘
] Time
>
y
C. 4
>
=
8 o
o Time
>
v
S
>
=
)
] Time
>
v
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42. A vehicle is moving from rest to a velocity of u (m/s). Let the energy required for this
process is E (J). The energy required to accelerate the vehicle from the velocity u to 2u
is X times of E. The value of “X” is
{given, g = 9.8 m/s’}

TP aTe- FRR SERAT Y, u (m/s) P 37T IR Ugadl & | AT 39 UfehaT & foe sirawasd
STl E (J) B 1 918 &1 AT u  2u T ool R & [oT8 HTIRIS Sl E BT X T 7
“X” BT HH gl

(AF o &, g = 9.8 m/isy}

A 2
B. 23
C. 38
D. 1/2

43. Analloy of copper and zinc is called as

Copper 3R Zinc &1 firgf e & I RSISIG]

Bronze
Brass

German Silver

o0 wp

Gun metal

44. Fahrenheit (°F) and Celsius (°C) scales of temperatures show equal readings

at

Fahrenheit (°F) 3R Celsius (°C) dTIH & THMA R g AT fgard
gl

A. 40°
B. -40°
C. 32°
D. 100°
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45.  From the following Current (1) - Voltage(V) graph, the resistance (in Q) is
=t faar current (1) - Voltage(V) graph 3, resistance Q ﬁ) %

A

—
£ /
=
(0]
oo
S 6
S
>
3 --------- 1
0 5 10 15

Current ( Ampere)

A 150
B. 6/5Q
C. 350
D. 950Q

46. The force between two bodies, which is proportional to the product of their masses
and inversely proportional to the square of the distance between them is

called

&l fist & st M are 56, S 39 SHM & UG & JHUT 3R 36
&9 31 g8 & o & HSHARIUT! Bial B, HEAT 5|

Universal law of acceleration
Universal law of gravitation

Universal law of motion

o w >

Universal law of force
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47.

48.

49.

A material with resistivity p and length L is cut into two equal parts. The resistivity of

each part is
Resistivity p 3R @€ L dTcl T AT ®I & SRIR HIT H Hlel SIdl § | Tdd
HIT D1 U Resistivity gl

A, pl2
B. 2p
C. »p

D. p/L

A simple pendulum of length 5 m, having a bob of mass 1 kg, is in a simple harmonic

motion. The net force on the bob at the mean position is

5 HieX dET8 &1 U WA dldd, ForIdT geadM 1 fHarm 8, T IRd 31ad Tfa
A 21 Aren UMY & §fe IR A 91 gl

A. ON
B. 25N
C. 5N
D. 25N

Given the fact that X number of vectorial forces of different magnitudes are acting at
a point. The minimum X value required to achieve resultant force to be zero
is

U T B g8 gu & fafte afikam & x e 8 9fes 96 Ue fdg R dd ax
g ¢ | URUMH 9 & YT U $HRA & fole Sad JAaI X HTAF gl

O 0w
B W DN
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50. Inaglass prism, the angle of deviation does NOT depend on

& Usa & e o1 oI R R TS HRar gl

A. wavelength of light
UHTRT B T g

B. angle of prism
forsH BT DI

C. angle of reflection
TRTA &1 HI0T

D. angle of incidence
3{TUTH Pl
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